8- IR DT EBMILE (NFR)FET,

AIAIMIOL FISBBT B &0

ANYD Lt> R DIFRIERRILICEIET 5 Lo

—_— RENSRORERS
TR %— (keal) 655kcal 652kcal 6| 6kcal
orom () [ 8A298 () |T3g 8A308 (&) IT79 9A28 (A) Ing
| ERLEDD=ZEBHIT BCERIECE] BERIECE] ECRIECE)
. UFETIIA Tl (F<0) A g
TAET ELELK—IAL— REXT NYN=F FZFT YR AR
TN—YRF »FEEIINOTELLS LN ERIVDIRDEIHR—T
# (Hh) DERbD \
oa E RAE(9) o 333 ERE(9)|om 333 EAE(9)= 333 EEEIO)
NPoEEIBBLIRS # |49 KA [EJES \K|# |54 KA [ES
#9, kA ERES 80.0|& 70.0|& [*¥ 80.0
g g} & |k 5.0[% 60.0|#% |/~>7 =7 (60g) 18
o NP N P ST 25.0|# | 25.0|% |rEhax 27.0
MILIEAL TS RBERMLTL # |A)-TH10 1.o|& w20l |r0sry 1.0
7. @g @@ FIA> 1.ol@ 6.0|@ [12al< 0.2
[ " = A o.1|#& 0.3|# [k 0.2
$ .,’f * MWS) 0.03|%& 0.5 bl 2.0
BEE (3. 4EL) OBTT. L & (3] ) & [l 0.3|m so| |zvoLesw 2.0
- ; . & [Lerns 0.6 [PPSR 0.01|# |t 1.0
FRER ALIEORTT. HL—t 0.8|% |xom os| |#us 2.0
JHLY)DERHD & |3naF 88.0|#& |bXL 40.0|# |k &% 0.2
@ [Icath 27.0|#% |#KHz 5.0 X 5.0
& |En¥ 80.0 PEEDELILELLNAS # |ty 44.0|% (Lo 1.8|%& (€A 10.0
& |IcALh 10.0 & [Vaz 3.0 zvalsivd 2.0|# |&® 4.0
FeUx 20| |& 2.0|& |Fr~v 22.0
23F9YILY 3.0 BY 4 1.0l& [cath 1.0
B 0.5[#%& |[rEFZ 15.0|#& |~3fax 22.0
M =T ST%) 2.0[% [icath 8.0|% |tay— 4.0
# | Lo 0.5|% |~3tax 320 |[#& 0.3
BRYDZBHIFEBNTVET, IRY—)—2R 20| [2E>% 16.0 M) 0.03
Y, YAHDY—R 3.0 37aLL39 3.0 PR A=1W 1) 3.0
& RESL< B D R=FR—RFF> 10.0 BYA 0.5 R—FR—2F %> 5.0
B HORAFELLDABHD, ‘ #(H)0ERbLD ‘ ?‘;;7 28 ’E/v 8'3 * 100.0
N N R . A .
BIBEe ALRLLD, A5 BASDLITS * s0.0| |mven .o
& | AE 20.0 LS 100.0
& [bbE 15.0
(’_\,:,,*r & |HhAE 25.0
S . a1 1.0
e % | e 3.0
T BREOHIC, E0B0 * 6.0
- TL—7208~NMDENTSS, B 0.05
M 648kcal 668kcal 61 7kcal 6 19kcal 670kcal W 673kcal
9838 (1) ] amereo |T.29 9H58 () |T49 9H6H (&) el 9R9R () el amiom 0o —
ECRIEES) RIS T EZRIECR) ECRINES) EZRIECE)
ZidA ol NIV ZikA VFAHL—EFT ZikA kA
v—R—H2bF Jg b |Lasxnnasa R/ NFET AEFZHNI)—LR—=T EIRVA m REIE
KERPI2k K28 1) a5 |zaFeRy InFnsZLS IL>FH55 b dR—7 il K5 R LB VL
r2b2—TF 3DHZLD
5 BRi EEEEAC) B Bai ELEEIC) B Bt ERE(9)|sm B 1E & (g)|am B EFAE(9)|sm B2 1E & (9)
# |49 &RA | K% |43 KA | K% |43 KA | K% |43 KA | &% |43 KA EIEHEEE S [ES
EHES 80.0[& |37/ (60g) 15 EES 80.0|& [*¥ 70.0|& [*% 80.0|& [*¥ 80.0
7 | 15.0|#& [ALIL—+ (509) El RS 25.0 AL—# 0.4|F [37R 50.0| 7% |¥iZ (—%-60g) [E]
|3 15.0 b4 O.1|#& |p1FBx GEZEETE) 66.0 RA=TR=2F %> 0.5 zwalsHvp 1.ol& [ 8.0
& |EHT 80.0 MU 0.0l P ol |& o4l |& 1.ol& [t®L 40.0
& |lcath 16.0|& |h&H 8.0|%& |3hx () 27.0 MW 0.01|& |L&d2* 1.0|& [cath 6.0
& |fdhF 50.0 N 3.0l |21E> (X ERES: o0.2|# |k &M 5.0 MN=TST 2.0
& |FEhy 4.0|#& |/ so8 10.0|% [¥®VAIFA 5.0)#% |v+ 10.0|& [*# 6.0|# | ta 1.0
& |Lurl 4.0l K 10.0|& [* 0.5|# [vrE ) 0.5|%& |1cata 16.0[& [57% 2.0
#7 [Leihy 0.6 ChADDY—R 2.0 M =17 3.5)# [IcAta 9.0|# [=FhE 33.0|#%& |B<bh 10.0
& |1chlK 0.2 MRI—Y—2 1.o|lg (=8 2.0|%& |r3hx .ol [Hoz (k&) 10.0|@& |22>% OEEeTE) 1.0
# |k 0.5|% |Lta 0.3 B h ol |& o2& Lk a0l@ |1cata 1.0
# (=8 1.s|& [F+~Y 27.0 ES 10.0 MN=TST 1.olg |e—~> 6.0|#& |~3nx 32.0
MN=TST 20 & 0.2|& [FERF 32.0 AL—4 0.2|# |=Em 17| |Emaz 8.0
] 0.5 [vany—~—a> 5.0|%& |rostir 1.0 YAHDY—R 0.5 MN=TST 1.7 HIY 1 2.0
YA 0.5]% [Lressvt 16.0|% [1cALA 1.0[# [tU& 15.0 S¥aledp 2.5 * 100.0
| FHZ 7.0l% |1chAth 16.0|# [sd#miF 00| |[& 0.1 B h 0.8
# [T 0.3|& |~3nF 32.0|%& |Eh¥ 4.0 MW 0.01 # 1.7
RO 0.05|#% |tehE 10.0|# [fEM&Hz 8.0 a1 1.0[F& [AvFbad (&) 0.3
# |FRY 1.0)% |/%&Y 0.5 HlY) A 2.0|#& [Copv b 22.0|#% |¥YA 20.0
LS 20.0] |[#& 0.3 £ 100.0|%& |lchth 1.o|#& |rhy 26.0
& |EdY 32.0 ZLsH 0.02 #% |-Fh¥F 42.0|% [IcACA 8.0
i | By bbby (8) 0.5 TFevT 5.0 #® |UIKE 15.0)4% |FEh¥T 4.0
b4 0.1 IFoLLHv 2.0 #% |7V)—ba3—> 40.0 & 0.3
zwaltsHvp 1.0 A=TR=2FF> 5.0 i |2H 30.0 M) 0.03
# (=8 0.8 E3 100.0 # 0.6 bR =17 ST 3.0
3 1.0 MU 0.03 R—FR—RF %> 4.0
R—FR=RF % 5.0|% |z 0.5
K 20.0 ES 100.0
& [Fv_Y 38.0
& 205y 8.0
& |ty 1.0
B 0.3
MWS) 0.02
B 1.5
e 0.8
F)=TAAL 0.5




559kcal 580kcal 602kcal " 574kcal 708kcal 736kcal
9E 1B (K) I-—ZZ.Ig 98128 (K) BEERT] 9B 138 (&) |—25'|g 9B 178 (K) I-—24.3g 9H 188 (K) |—26.09 98198 (K) |—28_8g
T FpHlIvp) FpHIIpd FpIHInp) RERIECE] BRI
Iy ZldA Zi3A yﬁg eSS VAV kA ZidA
FpINKLEDZIDR/T T4 IR DS SEIKEEWZADIIOIF Y [ he b2 IKABHZVLELARDS FEUGALA
LEVHSY FH I ADR—T EWFoh) R HIT a—=>V75— 2%F4HL3 ORLB~Hlir-hF L~
NNE)HD A BOERIEAT
B 323 &R & (9)]»m BRE R & (9)|sm BRE &R & (9)]»m BRB &R (9)]an BRE R E(9)|n BRB fERE(9)
7~ |49 RA ES RS EIER B E3 B | A& |# |3 KA EIEA RS E3
& |3~/ (40g) [RE EJES 80.0|& [*% 80.0]# [EHER/ > (509) A EIES 80.0|& [* 80.0
| 771 25.0[ 7 [ 3oF 40.0[# |3 7%A 20.0[7% |37-A 30.0]7#% [OLE (32) 2.0|% [€v A (509) 14
7~ | F A 20.00# [IcA LA 16.0|# |k 0.5 [#& 0.1 |3 20.0|% | K &8 8.0
1| 2E% BT E) 11.0|# | ¥ 8.0|#& K48 g5.0] |2L&d 0.01|# 20.0|#% %@ 8.0
&Ll 16.0)# [t 27.0|% |\cA LA 16.0] |@74> (o] =3 B 33.0|% | L&%E 1.1
& |ADEIG @M |10} | & /& (F3 M) 2.5[#% [TeVATA 5.0|#& [Lep* b 77.0|#% A 0.6| |& 1.7
& |tEnaE 45.0]4& |09 FLAMR 2.5|# [¥2FiH1F I5.0)% |\cA LA 21.0|% B 0.3 |zvalsivw 1.7
A ENEE R Ly 1.2|#& | Lerns 0.5] [||RIAIR< 15.0|#% |=3h¥ 44.0]# #R 5.6] |[%x 4.0
& |1chl< 0.2]|& |3k 0.5 zvwalsidp 3.0|& | b=t E 30.0|# v 2.7|%& |/>zyoonsny—2 (@) [RE]
4 0.2| [zl 0.0l SFalsiv 2.0# [t=tE2—L— 6.0 1.3[F [FIEKE) 10.0
bl 1.0]|& | = 8% 1.8|& | =54 2.0 |[#Fvv7 8.0 1.3|%# |2/& 25.0
Hh 2.0} |FHz 6.0] |#Y4 1.0|# |=:84E 0.3 1.3]#& | F95Y 11.0
[ = YOS 17 ] 2.5 zvwalsdw 0.5 B 1.0 IRI—=Y—2R 2.0]% |3 0.5|#% [f=EH¥F 17.0
2L 0.01 HYh 0.3| |HIYE 05| |& 0.5|# 10.0]#& |L&55® 0.6
&|FeY 33.0] |’& 0.5 |k 20.0] [2L43 0.04|& 20.0|%% |EWF 4.0
& |\ALA 6.0 |HL—#% 0.2|# [KE (%) 12.0] |R—=7FR=-2F%> 5.00% | % 27.0|& |¥Y% 1.5
& [R—a—> 10.0|# | K &% 1.0|# | K &% 4.5] [k 30.0[#% | % 7.0|7# (M AT 8.0
A ENEE R 0.5|% [vary—~—a> 5.0|# [ AY o2 2.0 [74>F— (6mAv ) 10.0]#& 6.0] [WveEs 2.0
3 0.5|%& |F>4 44 26.0|# |*@ 2.0)# [Icata (o] £=3 4.0 [k 100.0
& |LESRA 1.0)#& |1cA LA 1.0|&|Lakw ol |rzhr 33.0] [5¥aLssv 3.0
4 0.2|# [f=ghax 22.0] |zvaLssv 1.5]#& [K—La—> 15.0] |& 0.3
MS) 0.02|#& |L&H2® 0.3|# |\WIT% 1.0]#& |® 05| |& 1.0
# | Law 02| & 0.3 b 0.2| [HIvEs 2.0
Svalsdv 0.5] [2Ls3 0.02 MS) 0.02] |k 100.0
&|AREDA Bl [598Ls59 4.0 =TT os5|&[BEETF (& 40.0
2=FR=2FF> 4.0 N =157 3.0
S 100.0 # | Lax 5.0
HYA 2.0 BEOBO®#RIT
EAEE .ol Bx2E b
* 6.0] HBLLVBLOBHY
- 5 SE1398 178 Ut A
1?4 EZLVAEREHS KOREITRHTZITETT, BARICRITEL
BERFPEFE EMLCEBHALIT RRICEIIFRICAV Y
E—Fray A BAHICA-TVET D
607kcal " 599kcal 60 | kcal 64 2kcal 602kcal 57 l kcal
9H208 (&) 57,09 9R248 () 5589 9H258 (K) 4.9 9B268 (K) 58.0g 9R278 (&) 779 9R308 (A) 5639
RERINCS) RERINCR) RERINCR) RERIECR) RERINCR) BERINCS)
Zi3A F AT EIY kA ZI3A ZizA
EYnseYIdCen® FWERA HLNFIbyf2)—2 LNKDLEARE TUEAUS FrYvFu—2
WZhH i IhithA AVYAR=T VLEDVEDIC HELELD H59INR—T
FoRYDHBZLD
m 333 ERE (9™ B R (o) (333 ERE (9| ot ERE (9™ (33 TR (9) 33 BRE(9)
7 [ KA EIEAEEEN EIEAEE X E3 EIEE X | A% |3 KA EIEIEE X ES
& [X 80.0[#& % 80.0] & [E&/N%/ > (609) RE EJES 80.0[& % 80.0]& [* 80.0
7 [cul 40.0[#% [tV A 40.0[# [H#LT5% (30g) 177]7 [¢Y A (509) K] EASEG] 30.0|# [3 <A 50.0
bl 1.5]#& | Fry 47.0] |’& 1.0l [:& [Ne] Bl kiek S 104 10.0[#& |L&Hp® 1.0
# [Let 66.0[#% |-3h¥F 33.0] |& 02| & 0.1]# [1cAta 16.0|#% | =132 (kF) 20.0
AZAITRL 15.0) 4 {2 &% 2.2] |zLe 0.01[#&|L&rn® 0.2|#& =15 33.0|#% |[E—~=> 22.0
& |IcALA 16.0|# | &&H% 1.0|# | K &% 4.0|% |EnaF 4.0] |2EZAIRL 25.0|%% | RE—<> 16.0
& |r-Eha¥ 44.0] |AYA 1.0|#& |*3 6.0)# [1cAt< 03| |[—=E=xF 0.0l pi 3.0
& |¥oF 15.0] |’& 1.0|# |vang—~—ax 3.0 |twEEF 0.0l b 1.0|# | La¥E 1.0
&1 4.0 N =1 rSY ) .0 % 8.0|# | =B 1.0 zwalsivp 5.0 |AM1z9—v—2 1.0
# | =8 2.0|# |*KH 0.5|% [=3h¥ 13.0 zvalsrnn 3.0|% | =B 2.0 zvalsidp 4.0
=TT 5.0 [icai< 0.3|#& | ket 5.00% (=% 0.1 HYA 1.0|# |k &4 0.5
A h 2.0 [P R 0.04|# | M2 ME 10.0] |#Y4 1.0[#% [(GREB) =22 33.0] [k 1.0
aFIe> 0.3|& |z&m 0.4]# |1cAt< 0.2|& vz 0.5|% | A &% 1.0[#& [tVA 15.0
XK 20.0|# [ A 24 0.5|# |4)—7 41 0.2|# | A 2% 0.3|#% |=rE “"ng‘ 20.0|%& [tL 15.0
&|FeY 44.0| 7 [ A 20.0| |4Fvv7 3.0] [k 4.0|#& |LoL <> 11.0|# |=3h¥ 33.0
& |2Eo% O ERT &) 11.0)4 [1cALhA .ol & o.1|#&[oCE @) 2.4)% [cata 11.0| 7 | Ay Moh s (82) 0.3
#& [1cALh 6.0|%& |=gha¥ 22.0| [zvBoLsw 0.3 [1cA LA 6.0|%& |=2ha¥ 33.0| [& 0.3
=TT 134 |EhF 4.0|F [7A>F = QemAvF) 15.0)7 |35 iS 6.0|#% [EnaF 4.0] |2l 0.03
PER=1¥ST%) / 1.3 |2Ezalix< 10.0]#% |F v~y 21.0|% =5 1.6] |%& 0.3] |P¥olsiv 3.0
A h 1.0] |P¥olLsiw 3.0|% |=2haF 22.0] [zvaLsrw 2.4 [p¥oLssw 3.0|# [zxm 0.5
| FTHDY 0.5] [& 0.3]|#& |IcALA 11.0] |HlY& 0.4 |HIvEs 1.0|#& [FY2% 0.5
% 0.3|#& |Kx—La—> 5.0 [k 8.0] [z4s 0.3| |R=FTR-2F*> 4.0
NS 0.02[# |/ <Y 0.5[#& [F+~V 27.0] |k 100.0] [*k 100.0
HlY & 2.0] [5¥oLssw 2.0)# [icath 8.0
K 100.0 2—=FR=2F%X> 5.0|4& |-t 27.0
& 0.3|4% [EAF 4.0
M) 0.02|# |t M A= 8.0
K 100.0] [HIYER 2.0
*) 100.0




